Boucle Servoz - les Ayeres - Lac Vert Trailof 12.9Km Boucle Servoz - les Ayéres - Lac Vert, 12.9Km, height difference +860m/-860m
Duration of the trail estimated depending on speed : 1 hr % to 3 hrs % +860m | Start/Finish : SNCF station Servoz, cross the railway and follow the direction Servoz/le Bouchet from
-860m | the signpost 185 (tarmac road) to the centre of Servoz. At the Bouchet roundabout turn right to pass
1700 135 17 in front of the Mairie and find the Ecole de Servoz (school, signpost 20).
1600 Signpost n° B direction or instruction from this signpost| 95 P Le Vieux Servoz
1500 20 » Pormenaz Lac Vert D Vieux Servoz
1400 - f/ 21 » Continue along the road (100m) then follow | 90 » Vieux Servoz
1300 Chaftelet Lac Vert 4 a sign on the right in a field. Rejoin the road as far | 26 » Le Vieux Servoz, follow the signs to cross
1200 retuge as Moulins d’en Haut (signpost 22). the road twice and get to an old farm where you
1100 22 W Chalets de Pormenaz go to the right of a large trough.
1000 23 » Pont de Chouay 27 » Le Vieux Servoz, go through the village
900 24 > Ayéres following the signs to signpost 28.
start 21 c roads crossing c 129 » Les Ayez’res des Perrlfres 28 » Pont des Lanternes', go down the road
8.71{%" 20 135 P> Les Ayeres des Perriéres (300m). Just before the bridge take a left down
5 ; '2 ; 1'1 ; é '7 :g ; 1'0 1'1 1'2 17 » Le Chdtelet to the bank of the Arve. From there, rejoin the
Qo a Refuge du Chatelet, 143> Servoz road leading to the station. o
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